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Ch:POPULATION: DISTRIBUTION, DENSITY ,GROWTH AND COMPOSITION.  

Answer the following questions in about 30 words: 

Question 2.(i) 
Very hot and dry and very cold and wet regions of India have low density of 
population. In this light, explain the role of climate on the distribution of population. 
Answer: 
People tend to concentrate in areas with moderate climatic conditions, that is areas 
that are neither too hot nor too dry and also with adequate precipitation to support 
life activities. The extremities of climate tend to push people away from the region 
and make the region less attractive for human inhabitation. In India western 
Rajasthan, which is characterized by high temperatures and dry conditions, is one of 
the least inhabited regions. The population density tends to be high in Uttar Pradesh, 
West Bengal, Bihar etc. because these regions have moderate temperature 
conditions with adequate precipitation therefore making the region conducive for 
population concentration. 

Question 2.(ii) 
Which states have large rural population in India? Give one reason for such large 
rural population. 
Answer: 
States of Himachal Pradesh, Odisha, U.P., Bihar and Sikkim have very high 
percentage of rural population. The reason for high rural population is that these 
areas are the ones with low level of economic, social development and hence low 
level of infrastructural development, which tend to inhibit the process of 
urbanization. Also with sluggish growth people tend to be concentrated in the field of 
primary activities therefore. 

Question 2.(iii) 
Why do some states of India have higher rates of work participation than others? 
Answer: 
Work participation rate is the number of people engaged in economic activities. 
Some states of India like Himachal Pradesh, Sikkim, Chhattisgarh, Andhra Pradesh 
etc. tend to have higher work participation rate. The work participation rate tends to 
be higher in the areas of lower levels of economic development since number of 
manual workers are needed to perform the subsistence or near subsistence 
economic activities in the absence of other opportunities. 

Question 2.(iv) 
The agricultural sector has the largest share of Indian workers.’ – Explain. 



Answer: 
The occupational composition of India’s population shows a large proportion of 
primary sector workers compared to secondary and tertiary sectors. In India about 
58.2 per cent of total working population are cultivators and agricultural labourers, 
whereas only 4.2% of workers are engaged in household industries and 37.6 % are 
other workers including non-household industries, trade, commerce, construction 
and repair and other services. India is an agricultural country with maximum 
population engaged in it as job opportunities in the other sectors are limited due to 
low rate of infrastructural development. Workers are declining over the last few 
decades from 66.85% in 1991 to 58% in 2001 leading to rise in share of tertiary 
sector. 
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